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%garomonic
nmax=99;
n=0:nmax;
Fs=nmax+1;
x=0.8*cos(0.1884*n)+0.6*cos(0.3768*n)+0.4*cos(0.5652*n)+0.2*cos(0.7536*n)+0.1*cos(0.942*n);
figure(1),plot(n,x),grid
%sound(y1,Fs,bits)
%wavplay(y1,Fs,'sync')
figure(2),plot((1:length(x))/length(x),abs(fft(x))),grid
y=((-1).^n).*x;
figure(3),plot(n,y),grid
%sound(y1,Fs,bits)
%wavplay(y1,Fs,'sync')
figure(4),plot((1:length(y))/length(y),abs(fft(y))),grid
y=2.*cos(1.57*n).*x;
figure(5),plot(n,y),grid
%sound(y1,Fs,bits)
%wavplay(y1,Fs,'sync')
figure(6),plot((1:length(y))/length(y),abs(fft(y))),grid
 со звуком 
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%garomonic
nmax=99;
Fs=nmax+1;
x=wavread('FSpeech.wav')';
nmax=length(x)-1;
n=0:nmax;
figure(1),plot(n,x),grid
%sound(y1,Fs,bits)
%wavplay(y1,Fs,'sync')
figure(2),plot((1:length(x))/length(x),abs(fft(x))),grid
y=((-1).^n).*x;
figure(3),plot(n,y),grid
%sound(y1,Fs,bits)
%wavplay(y1,Fs,'sync')
figure(4),plot((1:length(y))/length(y),abs(fft(y))),grid
y=2.*cos(1.57.*n).*x;
figure(5),plot(n,y),grid
%sound(y1,Fs,bits)
%wavplay(y1,Fs,'sync')
figure(6),plot((1:length(y))/length(y),abs(fft(y))),grid
